## UNIVERSITY OF MISSOURI - Columbia Tuition Rates Beginning with the 2015 Summer Session

February 5-6, 2015

TUITION			2014-2015 RATES		2015-2016 RATES				
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	<b>Hour Rate</b>	Rate	Change	Change
Undergraduate *	Missouri	Semester	None	\$274.00		\$276.20		0.8%	\$2.20
	Nonresident	Semester	None	\$774.90		\$798.10		3.0%	\$23.20
Graduate	Missouri	Semester	None	\$347.30		\$350.10		0.8%	\$2.80
	Nonresident	Semester	None	\$910.10		\$937.40		3.0%	\$27.30
Law, JD	Missouri	Semester	None	\$600.50		\$630.50		5.0%	\$30.00
	Nonresident	Semester	None	\$1,169.20		\$1,199.20		2.6%	\$30.00
Law, LLM	Missouri	Semester	None	\$678.60		\$708.60		4.4%	\$30.00
	Nonresident	Semester	None	\$1,326.50		\$1,356.50		2.3%	\$30.00
Medicine, MD	Missouri	Semester	18	\$759.40	\$13,669.20	\$765.50	\$13,778.60	0.8%	\$109.40
	Missouri	Summer	8	\$759.40	\$6,075.20	\$765.50	\$6,123.80	0.8%	\$48.60
	Nonresident	Semester	18	\$1,512.00	\$27,216.00	\$1,524.10	\$27,433.70	0.8%	\$217.70
	Nonresident	Summer	8	\$1,512.00	\$12,096.00	\$1,524.10	\$12,192.80	0.8%	\$96.80
Veterinary Medicine,	Missouri	Semester	16	\$664.70	\$10,635.20	\$704.60	\$11,273.20	6.0%	\$638.00
DVM	Nonresident	Semester	16	\$1,573.20	\$25,171.20	\$1,613.10	\$25,809.20	2.5%	\$638.00

## UNIVERSITY OF MISSOURI - Columbia Supplemental Course Fees and Other Enrollment Fees Beginning with the 2015 Summer Session February 5-6, 2015

	2014-2015 RATES		2015-2016 RATES			
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	<b>Hour Rate</b>	Rate	Change	Change
Information Technology Fee *	\$13.00		\$13.10		0.8%	\$0.10
College of Ag, Food and Natural Resources Course Fee	\$48.70		\$49.10		0.8%	\$0.40
College of Arts & Science Course Fee	\$25.00		\$30.00		20.0%	\$5.00
Trulaske College of Business Undergraduate Course Fee	\$72.40		\$79.40		9.7%	\$7.00
Trulaske College of Business Graduate Course Fee	\$85.00		\$93.00		9.4%	\$8.00
College of Education Graduate Course Fee	\$40.20		\$40.50		0.7%	\$0.30
College of Education Undergrad Course Fee	\$47.60		\$48.00		0.8%	\$0.40
College of Engineering Course Fee	\$79.60		\$82.40		3.5%	\$2.80
Engineering Excellence Course Fee - Resident	\$30.00		\$31.50		5.0%	\$1.50
Engineering Excellence Course Fee - Non-Resident	\$70.00		\$73.50		5.0%	\$3.50
School of Health Professions Course Fee	\$92.40		\$92.40		0.0%	\$0.00
Health Management and Informatics Course Fee	\$30.00		\$30.20		0.7%	\$0.20
School of Journalism Course Fee	\$74.00		\$74.60		0.8%	\$0.60
Sinclair School of Nursing Clinical Nursing Graduate Fee	\$190.00		\$191.50		0.8%	\$1.50
Sinclair School of Nursing Undergraduate Course Fee	\$70.00		\$90.00		28.6%	\$20.00
College of Human Environmental Sciences Course Fee	\$43.50		\$53.50		23.0%	\$10.00
Truman School Course Fee	\$40.00		\$40.00		0.0%	\$0.00
Accountancy Program Fee **		\$400.00		\$500.00	25.0%	\$100.00
Medical School Laboratory/Resource Fee		\$593.70		\$742.20	25.0%	\$148.50
Applied Music Fee		\$234.30		\$236.20	0.8%	\$1.90
Graduate eLearning and Special Program Delivery Tuition Minimum	\$347.30		\$350.10		0.8%	\$2.80
Graduate eLearning and Special Program Delivery Tuition Maximum	\$1,500.00		\$1,500.00		0.0%	\$0.00
eLearning Vet Med-Deans Certificate Courses in Vet Biomed Tech	\$391.60		\$394.70		0.8%	\$3.10
Undergrad eLearning (distance students only) - Nonresident	\$350.00		\$352.20		0.6%	\$2.20
Examination Only - Graduate Enrollment		\$347.30		\$350.10	0.8%	\$2.80
CE Instructional Fee - Minimum	\$274.00		\$276.20		0.8%	\$2.20
CE Instructional Fee - Maximum	\$1,000.00		\$1,000.00		0.0%	\$0.00

<sup>\*</sup> Falls under SB389

<sup>\*\*</sup> Multi-year fee phase in previously approved



TUITION				2014-2015	RATES				
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat		Dollar
<b>Professional Program</b>	Status	Type		<b>Hour Rate</b>	Rate	<b>Hour Rate</b>	Rate		Change
Undergraduate*	Missouri	Semester	None	\$315.80		\$335.50		6.2%	\$19.70
	Nonresident	Semester	None	\$826.50		\$850.40		2.9%	\$23.90
	Metropolitan	Semester	None	\$315.80		\$335.60		6.3%	\$19.80
Graduate	Missouri	Semester	None	\$415.20		\$435.80		5.0%	\$20.60
	Nonresident	Semester	None	\$1,023.60		\$1,049.00		2.5%	\$25.40
	Metropolitan	Semester	None	\$415.20		\$435.80		5.0%	\$20.60
Optometry, OD	Missouri	Semester	16	\$687.90	\$11,006.40	\$710.70	\$11,371.20	3.3%	\$364.80
	Nonresident	Semester	16	\$1,180.60	\$18,889.60	\$1,207.30	\$19,316.80	2.3%	\$427.20

2014-2015 RATES									
	Per Credit	Flat	Per Credit	Flat		Dollar			
SUPPLEMENTAL FEES	<b>Hour Rate</b>	Rate	<b>Hour Rate</b>	Rate		Change			
Art History Supplemental Course Fee	\$3.30		\$3.30		0.0%	\$0.00			